Exercises 4

» Using JRS on the database TestStar, write SQL queries and check their Logical Query

Plans for: —
InvoiceLines
. Products
[ Countries Rl zéf(lpb? > PkProduct  :int <PK>
PkCountry :string <PK> _ _ v FkProduct | poq,ctiD :string <PK1>
. . LineNo iint KPK> .
Nation :string . ProductName :string
: . FkProduct  :int <FK(Products)> :
Continent  :string . Category :string
Qty iint o .
; . UnitPrice lint
Price iint
FkCountry
FkInvoiceNo
Customers :
Invoices
PkCustomer iint <PK> . .
FkCountry string FkCustomer| PklnvoiceNo :int <PK>

FkCustomer :int
< FK(Customers)>>
Date :date

< FK(Countries) >
CustomerName :string
CustomerType  :string

1. Number of distinct Customers by Product
2. Largest invoice revenue by Product

3. The percentage of revenue generated by the product over the total revenue of the
customer by Customer and Product

4. Total revenue by Customer but only if Customer has bought FkProduct=7 at least once

The relational model



